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NEW QUESTION 1
Which three iRule events are likely to be seen in iRules designed to select a pool for load balancing? (Choose three.)

A. CLIENT_DATA
B. SERVER_DATA
C. HTTP_REQUEST
D. HTTP_RESPONSE
E. CLIENT_ACCEPTED
F. SERVER_SELECTED
G. SERVER_CONNECTED

Answer: ACE

NEW QUESTION 2
A virtual server is defined per the charts. The last five client connections were to members C, D, A, B, B. Given the conditions shown in the above graphic, if a
client with IP address 205.12.45.52 opens a connection to the virtual server, which member will be used for the connection.

A. 172.16.20.1:80
B. 172.16.20.2:80
C. 172.16.20.3:80
D. 172.16.20.4:80
E. 172.16.20.5:80

Answer: D

NEW QUESTION 3
A 8IG-IP Administrator configures a Virtual Server to load balance traffic between 50 webservers for an
ecommerce website Traffic is being load balanced using the Least Connections (node) method.
The webserver administrators report that customers are losing the contents from their shopping carts and are unable to complete their orders.
What should the BIG-IP Administrator do to resolve the issue?

A. Change Default Persistence Profile setting to cookie
B. Change Load Balancing method to Ratio (member)
C. Change Default Persistence Profile setting to sipjnfo
D. Change Load Balancing method to Ratio (node)

Answer: A

NEW QUESTION 4
When configuring a pool member's monitor, which three association options are available? (Choose three.)

A. inherit the pool's monitor
B. inherit the node's monitor
C. configure a default monitor
D. assign a monitor to the specific member
E. do not assign any monitor to the specific member

Answer: ADE

NEW QUESTION 5
Which statement is true concerning the default communication between a redundant pair of BIG-IP devices?

A. Communication between the systems cannot be effected by port lockdown settings.
B. Data for both connection and persistence mirroring are shared through the same TCP connection.
C. Regardless of the configuration, some data is communicated between the systems at regular intervals.
D. Connection mirroring data is shared through the serial fail over cable unless network failover is enabled.

Answer: B

NEW QUESTION 6
A BIG-IP Administrator runs the initial configuration wizard and learns that the NTP servers were invalid. In which area of the Configuration Utility should the BIG-
IP Administrator update the list of configured NTP servers?

A. System > Configuration
B. System > Services
C. System > Preferences
D. System > Platform

Answer: A

NEW QUESTION 7
A BIG-IP Administrator configures remote authentication and needs to make sure that users can still login even when the remote authentication server is
unavailable.
Which action should the BIG-IP Administrators in the remote authentication configuration to meet this requirement?
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A. Set partition access to "All"
B. Enable the Fallback to Local option
C. Configure a remote role grove
D. Configure a second remote user directory

Answer: B

NEW QUESTION 8
Refer to the exhibit.
Due to a change in application requirements, a BIG-IP Administrator needs to modify the configuration of a Virtual Server to include a Fallback Persistence Profile.
Which persistence profile type should the BIG-IP Administrator use for this purpose?

A. SSL
B. Hash
C. Universal
D. Source Address Affinity

Answer: D

NEW QUESTION 9
A BIG-IP Administrator is unable to connect to the management interface via HTTPS. What is a possible reason for this issue?

A. The port lockdown setting is configured to Allow None.
B. An incorrect management route is specified.
C. The IP address of the device used to access the management interface is NOT included in the "P Allow" list in the Configuration Utility.
D. The IP address of the device used to access the management interface is NOT included in the "httpd Allow" list in the CLI.

Answer: D

NEW QUESTION 10
To increase available bandwidth of an existing Trunk, the BIG-IP Administrator is adding additional interfaces.
Which command should the BIG-IP Administrator run from within bosh shell?

A. tmsh create /net trunk trunk_A interfaces add {1.3.1.4}
B. tmsh create/sys trunk trunk_A interfaces add {1.3.1.4}
C. tmsh modify/sys trunk trunk^A interfaces add {1.3.1.4}
D. tmsh modify /net trunk trunk_A interfaces add {1.3.1.4}

Answer: D

NEW QUESTION 10
A BIG-IP Administrator is configuring an SSH Pool with five members.
Which Health Monitor should be applied to ensure that available pool members are monitored accordingly?

A. https
B. udp
C. http
D. tcp

Answer: D

NEW QUESTION 14
A VLAN has the following objects configured:
Self-IP 10.10.10.100 with port lockdown set to Allow default Virtual server 10.10.10.100:443 with UDP profile enabled Virtual server 10.10.10.0/24 port forwarding
virtual server
Global destination NAT forwarding 10.10.10.100 to internal server 172.168.10.100
Which object will process this request when https://10.10.10.100 is entered into a browser?

A. self-IP 10.10.10.100 with port lockdown set to Allow default
B. virtual server 10.10.100/24 port o forwarding virtual server
C. global destination NAT forwarding 10.10.10.100 to internal server 172.168.10.100
D. virtual server 10.10.10.100.443 with UDP profile enabled

Answer: A

NEW QUESTION 17
A development team needs to apply a software fix and troubleshoot one of its servers. The BIG-IP Administrator needs to immediately remove all connections from
the BIG-IP system to the back end server. The BIG-IP Administrator checks the Virtual Server configuration and finds that a persistence profile is assigned to it.
What should the 8IG-IP Administrator do to meet this requirement?

A. Set the pool member to a Forced Offline state and manually delete easting connections through the command line.
B. Set the pool member to a Forced Offline state.
C. Set the pool member to a Disabled state.
D. Set the pool member to a Disabled state and manually delete existing connections through the command line.

Answer: A
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NEW QUESTION 21
When using the setup utility to configure a redundant pair, you are asked to provide a "Failover Peer IP". Which address is this?

A. an address of the other system in its management network
B. an address of the other system in a redundant pair configuration
C. an address on the current system used to listen for failover messages from the partner BIG-IP
D. an address on the current system used to initiate mirroring and network failover heartbeat messages

Answer: B

NEW QUESTION 26
The BIG-IP Administrator creates a custom iRule that fails to work as expected. Which F5 online resource should the administrator use to help resolve this issue?

A. DevCentral
B. Bug Tracker
C. University
D. Health

Answer: A

NEW QUESTION 27
Refer to the exhibit.

A BIG-IP Administrator needs to configure health monitors for a newly configured server pool named Pool_B.
Which health monitor settings will ensure that all pool members will be accurately marked as available or unavailable?

A. HTTPS, HTTP, FTP, and ICMP, with the Availability Requirement of all health monitors
B. HTTPS, HTTP, FTP, and SSH, with the Availability Requirement of at least one monitor
C. HTTPS and HTTP with the Availability Requirement of at least one health monitor
D. HTTPS, HTTP, FTP, and SSH with the Availability Requirement of all health monitors

Answer: B

Explanation: 
From the port, the four members are HTTP, FTP, HTTPS, and SSH applications. If you want to monitor at the same time, you must configure at least one.

NEW QUESTION 29
A web server administrator informs the BIG-IP Administrator that web servers are overloaded Starting next month, the BIG-IP device will terminate SSL to reduce
web server load. The BIG-IP device is ready using client SSL client profile and Rules on HTTP level. What actions should the BIG-IP Administrators to achieve the
desired configuration?

A. Remove the server SSL profile and configure the Pool Members to use HTTP
B. Remove the client SSL profile and configure the Pool Members to US HTTP
C. Remove the chart SSL profile and change the Virtual Server to accept HTTP
D. Remove the server SSL profile and change the Virtual Server to accept HTTP traffic

Answer: A

NEW QUESTION 31
Monitors can be assigned to which three resources? (Choose three.)

A. NATs
B. pools
C. iRules
D. nodes
E. SNATs
F. pool members
G. virtual servers

Answer: BDF

NEW QUESTION 33
During a maintenance window, an EUD test was executed and the output displayed on the screen. The BIG-IP Administrator did NOT save the screen output. The
BIG-IP device is currently handling business critical traffic. The BIG-IP Administrator needs to minimize impact. What should the BIG-IP Administrator do to provide
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the EUD results to F5 Support?

A. Boot the device into EUD then collect output from console
B. Execute EUD from tmsh and collect output from console
C. Collect file /var/log/messages
D. Collect file /shared/log/eud.log

Answer: D

NEW QUESTION 38
Refer to the exhibit
The BIG-IP Administrator is unable to access the management console via Self-IP 10.10 1.33 and port 443. What is the reason for this problem?

A. Packet Filter needs to be configured to allow a source
B. Self IP is configured to allow TCP All
C. Self IP is configured to allow UDP 443
D. Packet Filter is configured to allow port 443

Answer: C

NEW QUESTION 40
A BIG-IP Administrator needs to apply a license to the BIG-IP system to increase the user count from the base license.
Which steps should the BIG-IP Administrator?

A. System License > Re-activate> Add-On Registration> Edit
B. System > License > Re-activate > Base Registration> Edit
C. Device Management > Devices > Select BIG-IP System > Update
D. System > Configuration >Device > General

Answer: A

NEW QUESTION 42
A 8IG-IP device is replaced with an RMA device. The BIG-IP Administrator renews the license and tries to restore the configuration from a previously generated
UCS archive on the RMA device. The device configuration is NOT fully loading. What is causing the configuration load to fail?

A. The Device Group is NOT configured for Full Sync.
B. The US does NOT contain the full config
C. The clock is NOT set correctly
D. The Master Key is NOT restored

Answer: D

NEW QUESTION 43
When initially configuring the BIG-IP system using the config utility, which two parameters can be set? (Choose two.)

A. the netmask of the SCCP
B. the IP address of the SCCP
C. the port lockdown settings for the SCCP
D. the netmask of the host via the management port
E. the IP address of the host via the management port
F. the port lockdown settings for the host via the management port

Answer: DE

NEW QUESTION 48
On the VCMP system, a BIG-IP host administrator imports a new ISO image into the host's /shared/images folder. The new ISO images that reside on the vCMP
host are available for installation on the guest. How should the BIG-IP Administrator install one image from within the guest?

A. Install the new software on the host and wait for it to automatically be installed on all guests.
B. Run the following command on guesttmsh install sys software block-device-image image_name volume < volume_name>
C. Run the following command on guesttmsh install sys software image image_name volume < volume_name>
D. Run the following command on hosttmsh install sys software block-device-image image_name volume < volume_name>

Answer: D

NEW QUESTION 50
The BIG-IP Administrator generates QKView using tmsh command "qkview -SO". In which directory does the BIG-IP appliance save the QKView?

A. /etc/tmp
B. /var/tmp
C. /shared/qkview
D. /var /tmp/qkview

Answer: B

NEW QUESTION 55
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When can a single virtual server be associated with multiple profiles?

A. Neve
B. Each virtual server has a maximum of one profile.
C. Ofte
D. Profiles work on different layers and combining profiles is common.
E. Rarel
F. One combination, using both the TCP and HTTP profile does occur, but it is the exception.
G. Unlimite
H. Profiles can work together in any combination to ensure that all traffic types are supported in a given virtual server.

Answer: B

NEW QUESTION 58
How is MAC masquerading configured?

A. Specify the desired MAC address for each VLAN for which you want this feature enabled.
B. Specify the desired MAC address for each selfIP address for which you want this feature enabled.
C. Specify the desired MAC address for each VLAN on the active system and synchronize the systems.
D. Specify the desired MAC address for each floating selfIP address for which you want this feature enabled.

Answer: A

NEW QUESTION 61
A new BIG-IP VE is deployed with default settings. The BIG-IP Administrator completes the setup utility in the Configuration Utility. The internal self IP address fails
to respond to a ping request. What is a possible cause of this issue?

A. Port lockdown on internal self IP is set to Allow None
B. Route is NOT assigned to internal self IP.
C. Internal interface VLAN is set to untagged
D. Internal interface VLAN is set to tagged

Answer: D

NEW QUESTION 62
A BIG-IP system has the following configuration:
* SNAT is set to Auto Map
* There are two VLANs internal and external
* Default route is pointed to the gateway on external VLAN
* Self P for internal VLAN is 1921.1.2
* Self IP for external VLAN is 192.1.2.2
* Floating IP addresses for internal VLAN is 192.1.1.1
* Floating IP addresses for external VLAN is 192.1.2.1
* The Virtual Server IP address is 192.1.1.100
Which IP address does the BIG-IP system use first when traffic reaches the servers on the internal VLAN?

A. 192.1.1.100
B. 192.1.2.2
C. 192.1.1.1
D. 192.1.2.1

Answer: C

NEW QUESTION 65
Users are unable to reach an application. The BIG-IP Administrator checks the Configuration Utility and observes that the Virtual Server has a red diamond in front
of the status. What is causing this issue?

A. All pool members are down.
B. The Virtual Server is receiving HTTPS traffic over HTTP virtual.
C. The Virtual Server is disabled.
D. All pool members have been disabled.

Answer: A

NEW QUESTION 68
Which log file should the BIG-IP Administrator check to determine if a specific user tried to log in to the 8IG-IP Configuration by utility?

A. /var/log/pam/tally/log
B. /ver/log/secure
C. /var/log/trn
D. /var/log/http.d

Answer: B

NEW QUESTION 72
Refer to the exhibit.
A BIG-IP Administrator configures the Virtual Server to pass HTTP traffic. Users report that they are unable to access the application
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What should the administrator do to resolve this issue?

A. Change the Virtual Server name
B. Disable .he State
C. Reconfigure the Source Address
D. Reconfigure the Pool Members

Answer: D

NEW QUESTION 76
Refer to the exhibit.

According to the shown Configuration Utility stings What is the setting of the User Directory configuration under the Authentication submenu?

A. Local
B. Managed
C. Remote-TACACS+
D. Default system configuration

Answer: C

NEW QUESTION 77
The incoming client IP address is 195.64.45.52 and the last five connections have been sent to members A, C, E, D and B. Given the virtual server, pool, and
persistence definitions and statistics shown in the above graphic, which member will be used for the next connection?

A. 10.10.20.1:80
B. 10.10.20.2:80
C. 10.10.20.3:80
D. 10.10.20.4:80
E. 10.10.20.5:80
F. It cannot be determined with the information given.

Answer: C

NEW QUESTION 81
Which three methods can be used for initial access to a BIG-IP system? (Choose three.)

A. CLI access to the serial console port
B. SSH access to the management port
C. SSH access to any of the switch ports
D. HTTP access to the management port
E. HTTP access to any of the switch ports
F. HTTPS access to the management port
G. HTTPS access to any of the switch ports

Answer: ABF

NEW QUESTION 82
Refer to the exhibit.

How many nodes are represented on the network map shown?

A. Four
B. Three
C. One
D. Two

Answer: B
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NEW QUESTION 86
As a part of the Setup Utility, the administrator sets the host name for the BIG IP. What would be the result if the two systems in a redundant pair were set to the
same host name?

A. Host names do not matter in redundant pair communication.
B. In a redundant pair, the two systems will always have the same host nam
C. The parameter is synchronized between the systems.
D. The first time the systems are synchronized the receiving system will be assigned the same self-IP addresses as the source system.
E. When the administrator attempts to access the configuration utility using the host name, they will always connect to the active system.

Answer: C

NEW QUESTION 89
Active connections to pool members are unevenly distributed. The load balancing method is Least Connections (member) Priority Group Activation is disabled.
What is a potential cause of the event distribution?

A. Priority Group Activation is disabled
B. SSL Profile Server is applied
C. Persistence profile is applied
D. incorrect load balancing method

Answer: C

NEW QUESTION 90
You need to terminate client SSL traffic at the BIG-IP and also to persist client traffic to the same pool member based on a BIG IP supplied cookie. Which four are
profiles that would normally be included in the virtual server's definition? (Choose four.)

A. TCP
B. HTTP
C. HTTPS
D. ClientSSL
E. ServerSSL
F. CookieBased Persistence

Answer: ABDF

NEW QUESTION 93
Assume a virtual server has a ServerSSL profile. What SSL certificates are required on the BIG-IP?

A. No SSL certificates are required on the BIG-IP.
B. The BIG-IP's SSL certificates must only exist.
C. The BIG-IP's SSL certificates must be issued from a certificate authority.
D. The BIG-IP's SSL certificates must be created within the company hosting the BIG-IPs.

Answer: A

NEW QUESTION 98
In the BIG-IP Configuration Utility, a user requests a single screen view to determine the status of all Virtual Servers and associated pool members, as well as any
iRules in use. Where should the BIG-IP Administrator instruct the user to find this view?

A. Local Traffic > Monitors
B. Local Traffic > Virtual Servers
C. Local Traffic > Network Map
D. Statistics

Answer: C

Explanation: 
Network Map can display vs and its associated pool, pool member, and irule, can be retrieved, and can be quickly linked.

NEW QUESTION 103
Refer to the exhibit.

How are new connections load balanced?

A. To the first two members listed with the same priority group
B. To the pool member with the least number of connections
C. To the pool member with a high priority group value defined
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D. To the pool member with a low priority group value defined

Answer: B

NEW QUESTION 105
A BIG-IP Administrator plans to resolve a non-critical issue with a BIG-IP device in 2 weeks. What Severity level should be assigned to this type of F5 support
ticket?

A. 4
B. 2
C. 3
D. 1

Answer: A

NEW QUESTION 106
Refer to the exhibit

The network team creates a new VLAN on the switches. The BIG-IP Administrator needs to create a configuration on the BIG-IP device. The BIG-IP Administrator
creates a new VLAN and Self IP, but the servers on the new VLAN are NOT reachable from the BIG-IP device.
Which action should the BIG-IP Administrators to resolve this issue?

A. Set Port Lockdown of Set IP to Allow All
B. Change Auto Last Hop to enabled
C. Assign a physical interface to the new VLAN
D. Create a Floating Set IP Address

Answer: C
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NEW QUESTION 107
Which parameters are set to the same value when a pair of BIG-IP devices are synchronized?

A. host names
B. system clocks
C. profile definitions
D. VLAN failsafe settings
E. MAC masquerade addresses

Answer: C

NEW QUESTION 111
Refer to the exhibit

A connection is being established to IP 1.1.1.1 on port 8080. Which virtual server will handle the connection?

A. fwd_8080_vs
B. host_vs
C. host_ 8080_VS
D. fwdvs

Answer: B

NEW QUESTION 115
Refer to the exhibit.

An LTM device has a virtual server mapped to www.f5.com. Users report that when they connect to
/resources/201.1.2h.l_l.com they are unable to receive content. What is the likely cause of the issue?

A. The pool associated with the virtual server does not have priority group activation enabled.
B. The virtual address does not have ARP enabled.
C. The virtual address does not have route advertising enabled.
D. The pool associated with the virtual server is falling its health check.

Answer: B

NEW QUESTION 120
Which two statements are true about NATs? (Choose two.)

A. NATs support UDP, TCP, and ICMP traffic.
B. NATs can be configured with mirroring enabled or disabled.
C. NATs provide a one-to-one mapping between IP addresses.
D. NATs provide a many-to-one mapping between IP addresses.

Answer: AC

NEW QUESTION 121
A BIG-IP Administrator needs to modify a virtual server that web offload web traffic compression tasks from the target server.
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Which two profiles must the BIG-IP Administrator apply to a virtual server to enable compression? (Choose two)

A. Server SSL profile
B. Stream profile
C. Persistence profile
D. HITP profile
E. Compression profile

Answer: DE

NEW QUESTION 124
Which statement accurately describes the difference between two loadbalancing modes specified as "member" and "node"?

A. There is no difference; the two terms are referenced for backward compatibility purposes.
B. When the loadbalancing choice references "node", priority group activation is unavailable.
C. Loadbalancing options referencing "nodes" are available only when the pool members are defined for the "any" port.
D. When the loadbalancing choice references "node", the addresses' parameters are used to make the loadbalancing choice rather than the member's parameters.

Answer: B

NEW QUESTION 128
A virtual server is defined using a source address based persistence profile. The last five connections were A, B, C, A, C . Given the conditions shown in the
graphic, if a client with IP address 205.12.45.52 opens a connection to the virtual server, which member will be used for the connection?

A. 10.10.20.1:80
B. 10.10.20.2:80
C. 10.10.20.3:80
D. 10.10.20.4:80
E. 10.10.20.5:80

Answer: B

NEW QUESTION 129
A BIG-IP Administrator is creating a new Trunk on the BIG-IP device. What objects should be added to the new Trunk being created?

A. Interfaces
B. Network routes
C. VLANS
D. IP addresses

Answer: A

Explanation: 
trunk is a portchannel, you need to add a physical interface.

NEW QUESTION 131
Refer to the exhibit.

The BIG-IP Administrator is investigating disk utilization on the BIG-IP device. What should the BIG-IP Administrator check next?

A. Large files on the / file system
B. Results from the EUD test
C. Results from the platform diagnostics test
D. Large files on /usr file system

Answer: A

NEW QUESTION 133
Refer to the exhibit.
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Which Pool Members are receiving traffic?

A. Serv1, serv2,serv3, serv4
B. serv1, serv3
C. serv1, serv3, serv4
D. serv1

Answer: C

NEW QUESTION 138
One of the two members of a device group has been decommissioned. The BIG-IP Administrator tries to delete the device group, but is unsuccessful.
Prior to removing the device group, which action should be performed?

A. Disable the device group
B. Remove all members from the device group
C. Remove the decommissioned device from the device group
D. Make sure all members of the device group are in sync

Answer: B

NEW QUESTION 143
A 8IG-IP Administrator configures a node with a standard icmp Health Monitor. The Node shows as DOWN although the Backend Server is configured to answer
ICMP requests. Which step should the administrator take next to find the root cause of this issue?

A. Run a curl Run a qkview
B. Run a qkview
C. Runatcpdump
D. Runanssldump

Answer: C

NEW QUESTION 148
Which cookie persistence method requires the fewest configuration changes on the web servers to be implemented correctly?

A. insert
B. rewrite
C. passive
D. session

Answer: A

NEW QUESTION 153
A BIG-IP Administrator needs to configure the BIG-IP system to perform load balancing for FTP servers running passive mode FTP.
How should the administrator configure the Virtual Server to perform this load balancing?

A. A Standard Virtual Server + FTP profile
B. A Forwarding Virtual Server
C. A Performance Layer 4 Virtual Server + FTP profile
D. A Message Routing Virtual Server

Answer: A

NEW QUESTION 154
Refer to the exhibit
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The network team creates a new VLAN on the switches. The BIG-IP Administrator needs to create a configuration on the BIG-IP device. The BIG-IP Administrator
creates a new VLAN and Self IP, but the servers on the new VLAN are NOT reachable from the BIG-IP device.
Which action should the BIG-IP Administrators to resolve this issue?

A. Set Port Lockdown of Set IP to Allow All
B. Change Auto Last Hop to enabled
C. Assign a physical interface to the new VLAN
D. Create a Floating Set IP Address

Answer: C

NEW QUESTION 156
......
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